Soustraction (A)

Calculez la différence.

879 — 327 =

(33 — 190 =

230 — 136 =

434 — 294 =
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Soustraction Solutions (A)

Calculez la différence.

879 — 327 =
D02

(33 — 190 =
043

230 — 136 =
99

434 — 294 =
140
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Soustraction (B)

Calculez la différence.

(54 — 219 =

166 — 163 =

962 — 128 =

208 — 101 =
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Soustraction Solutions (B)

Calculez la différence.

(54 — 219 =
D30

166 — 163 = 3

962 — 128 =
334

208 — 151 =
117
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Soustraction (C)

Calculez la différence.

638 — 229 =

(03 — 4806 =

(37 — 681 =

973 — 968 =
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Soustraction Solutions (C)

Calculez la différence.

038 — 229 =
409

(03 — 486 =
207

(37 — 681 =
00

973 — 968 = 5

MathsLibres.com




Soustraction (D)

Calculez la différence.

871 — 192 =

91 — 533 =

030 — 400 =

690 — 243 =
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Soustraction Solutions (D)

Calculez la différence.

871 — 192 =
679

91 — 533 =
208

030 — 400 =
179

690 — 243 =
447
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Soustraction (E)

Calculez la différence.

240 — 147 =

D30 — 457 =

168 — 153 =

491 — 258 =
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Soustraction Solutions (E)

Calculez la différence.

240 — 147 =
93

D30 — 457 =
(3

168 — 153 =
15

491 — 258 =
233
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Soustraction (F)

Calculez la différence.

D03 — 398 =

327 — 312 =

30U — 322 =

223 — 172 =
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Soustraction Solutions (F)

Calculez la différence.

D03 — 398 =
155

327 — 312 =
15

300 — 322 =
D23

223 — 172 =
01
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Soustraction (G)

Calculez la différence.

458 — 298 =

288 — 123 =

931 — 840 =

943 — 311 =
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Soustraction Solutions (G)

Calculez la différence.

458 — 298 =
160

288 — 123 =
165

931 — 840 =
141

943 — 811 =
132
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Soustraction (H)

Calculez la différence.

914 — 731 =

648 — 376 =

906 — 499 =

836 — 700 =
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Soustraction Solutions (H)

Calculez la différence.

914 — 731 =
133

648 — 376 =
272

906 — 499 =
407

836 — 700 =
136
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Soustraction (I)

Calculez la différence.

48 — 646 =

630 — 443 =

913 — 693 =

157 — 153 =
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Soustraction Solutions (I)

Calculez la différence.

48 — 646 =
102

630 — 443 =
237

913 — 603 =
200

157 =153 =4
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Soustraction (J)

Calculez la différence.

460 — 443 =

129 — 100 =

933 — 209 =

995 — 870 =
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Soustraction Solutions (J)

Calculez la différence.

460 — 443 =
22

129 — 100 =
29

933 — 269 =
664

995 — 870 =
125

MathsLibres.com




